## Cumhuriyet Science Journal

csj.cumhuriyet.edu.tr $\quad$ Founded: 2002 ISSN: 2587-2680 e-ISSN: 2587-246X Publisher: Sivas Cumhuriyet University

## A Study On Generalized Absolute Matrix Summability

## Ahmet Karakaş ${ }^{1, a, *}$

${ }^{1}$ Department of Mathematics, Faculty of Science, Erciyes University, 38039 Kayseri, Türkiye.
*Corresponding author

## Research Article

## History

Received: 04/11/2021
Accepted: 17/05/2022
Copyright
(c) (i) $\Theta)^{-1}$
©2022 Faculty of Science,
Sivas Cumhuriyet University


#### Abstract

In the present paper, generalized absolute matrix summability method of infinite series has been studied. A known theorem on $|M|_{\kappa}$ summability method has been generalized using the $\left|M, p_{\eta}, \lambda ; \mu\right|_{\kappa}$ summability method of infinite series. So a new theorem has been established and proved. Some results related to the new theorem also have been obtained.


Keywords: Summability factors, Absolute matrix summability, Infinite series, Hölder inequality, Minkowski inequality.
a@ahmetkarakas1985@gmail.com (iDhttps://orcid.org/0000-0001-7043-1445 |

## Introduction

Summability theory is important for analysis, applied mathematics and engineering sciences. The purpose of this theory is to bring an appropriate value to the indefinite divergent series. Various summability methods have been defined by some researchers to find the value. Some of these methods are Cesàro [1], Abel [2], Nörlund [3], Riesz [4], matrix summability [5].

A significant increase began in studies on the summability theory in the second half of the $19^{\text {th }}$ century. In 1890, Cesàro published a paper on the multiplication of series [1]. Das gave the definition of absolute summability [6]. Then Kishore and Hotta defined the summability factor [7]. The definition of $|M|_{\kappa}$ summability was given by Tanović-Miller [8]. Later Bor defined $\left|\bar{N}, p_{\eta}\right|_{\kappa}$ and $\left|\bar{N}, p_{\eta} ; \mu\right|_{\kappa}$ summability of an infinite series [9, 10]. The definition of $\left|M, p_{\eta} ; \mu\right|_{\kappa}$ summability of an infinite series was defined by Özarslan and Öğdük [11]. The definition of $\left|M, p_{\eta}, \lambda ; \mu\right|_{\kappa}$ summability was given by Özarslan and Karakaş [12]. In this paper a theorem on absolute matrix summability is obtained using $\left|M, p_{\eta}, \lambda ; \mu\right|_{\kappa}$ summability method. Now we give some definitions related to the summability which are used in this article.

Definition 1 [13]. Let $\left(s_{\eta}\right)$ be partial sums of the infinite series $\sum m_{\eta} \cdot\left(p_{\eta}\right)$ is a sequence such that

$$
\begin{equation*}
p_{\eta}>0 \text { and } P_{\eta}=\sum_{v=0}^{\eta} p_{v} \rightarrow \infty \text { as } \eta \rightarrow \infty\left(P_{-j}=p_{-j}=0, j \geq 1\right) . \tag{1}
\end{equation*}
$$

$\left(\vartheta_{\eta}\right)$ is the $\left(\bar{N}, p_{\eta}\right)$ means of the sequence $\left(s_{\eta}\right)$ such that
$\vartheta_{\eta}=\frac{1}{P_{\eta}} \sum_{v=0}^{\eta} p_{v} s_{v}$.

Definition 2 [9]. The series $\sum m_{\eta}$ is called summable
$\left|\bar{N}, p_{\eta}\right|_{\kappa}, \kappa \geq 1$, if
$\sum_{\eta=1}^{\infty}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\kappa-1}\left|\vartheta_{\eta}-\vartheta_{\eta-1}\right|^{\kappa}<\infty$.

Definition 3 [8]. Let $M=\left(m_{r v}\right)$ be a normal matrix, i.e, a lower triangular matrix of nonzero diagonal entries. By $M=\left(m_{r \nu}\right)$, a transformation from sequence $s=\left(s_{\eta}\right)$ to $M s=\left(M_{\eta}(s)\right)$ can be constituted where
$M_{\eta}(s)=\sum_{v=0}^{\eta} m_{\eta v} s_{v}, \eta=0,1, \ldots$

The series $\sum m_{\eta}$ is called summable $|M|_{\kappa}, \kappa \geq 1$, if
$\sum_{\eta=1}^{\infty} \eta^{\kappa-1}\left|\bar{\Delta} M_{\eta}(s)\right|^{\kappa}<\infty$,
where
$\bar{\Delta} M_{\eta}(s)=M_{\eta}(s)-M_{\eta-1}(s)$.

Definition 4 [14]. The series $\sum m_{\eta}$ is called summable
$\left|M, p_{\eta}\right|_{\kappa}, \kappa \geq 1$, if
$\sum_{\eta=1}^{\infty}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\kappa-1}\left|\bar{\Delta} M_{\eta}(s)\right|^{\kappa}<\infty$.
Definition 5 [12]. The series $\sum m_{\eta}$ is called summable $\left|M, p_{\eta}, \lambda ; \mu\right|_{\kappa}, \kappa \geq 1, \mu \geq 0$ and $\lambda$ is a real number if $\sum_{\eta=1}^{\infty}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)}\left|\bar{\Delta} M_{\eta}(s)\right|^{\kappa}<\infty$.

Here, if we choose $\lambda=1$ and $\mu=0,\left|M, p_{\eta}, \lambda ; \mu\right|_{\kappa}$ summability reduces to $\left|M, p_{\eta}\right|_{\kappa}$ summability. Also, by taking $\lambda=1, \mu=0$ and $p_{\eta}=1$ for $\forall \eta \in \mathbb{N},\left|M, p_{\eta}, \lambda ; \mu\right|_{\kappa}$ summability reduces to $|M|_{\kappa}$ summability.

## Known Results

The following lemmas and theorem on $|M|_{\kappa}$ summability of the series $\sum m_{\eta} \lambda_{\eta} X_{\eta}$ have been proved by Sulaiman in [15].

Lemma 1. If $\sum \eta^{-1} \lambda_{\eta}$ is convergent, then $\left(\lambda_{\eta}\right)$ is nonnegative and decreasing, $\quad \lambda_{\eta} \log \eta=O(1)$, and $\eta \Delta \lambda_{\eta}=O\left(1 /(\log \eta)^{2}\right)$.

Lemma 2. If $\sum \eta^{-1} \lambda_{\eta} X_{\eta}$ is convergent, such that

$$
\begin{equation*}
\eta \Delta \lambda_{\eta}=O\left(\lambda_{\eta}\right) \text { as } \eta \rightarrow \infty \tag{9}
\end{equation*}
$$

$\sum_{v=1}^{\eta} \lambda_{v}=O\left(\eta \lambda_{\eta}\right)$ as $\eta \rightarrow \infty$,
then
$\eta \lambda_{\eta} \Delta X_{\eta}=O(1)$,
$\sum_{\eta=1}^{q} \lambda_{\eta} \Delta X_{\eta}=O(1)$ as $q \rightarrow \infty$,
$\sum_{\eta=1}^{q} \eta \lambda_{\eta} \Delta^{2} x_{\eta}=O(1)$ as $q \rightarrow \infty$.
Theorem 1. Let $\left(\lambda_{\eta}\right),\left(X_{\eta}\right)$ be two sequences such that $\sum_{\eta=1}^{\infty} \eta^{-1} \lambda_{\eta} X_{\eta}$ is convergent, and the conditions (9), (10) are satisfied. Let $M=\left(m_{r p}\right)$ be a normal matrix with nonnegative entries satisfying

$$
\begin{equation*}
\bar{m}_{\eta 0}=1, \quad \eta=0,1, \ldots, \tag{14}
\end{equation*}
$$

$m_{\eta-1, v} \geq m_{\eta v}$, for $\eta \geq v+1$,

$$
\begin{align*}
& \eta m_{\eta \eta}=O(1), 1=O\left(\eta m_{\eta \eta}\right)  \tag{16}\\
& \sum_{v=1}^{\eta-1} m_{v v} \hat{m}_{r v}=O\left(m_{\eta \eta}\right) \tag{17}
\end{align*}
$$

If $u_{v}^{\kappa}=O(1)(C, 1)$, where $u_{v}=\frac{1}{v+1} \sum_{i=1}^{v} i m_{i}$, then the series $\sum m_{\eta} \lambda_{\eta} X_{\eta}$ is summable $|M|_{\kappa}, \kappa \geq 1$.

Lemma 3. According to Theorem 1, we have
$\sum_{v=0}^{\eta-1}\left|\Delta_{v}\left(\widehat{m}_{\eta v}\right)\right|=m_{\eta \eta}$,
$\widehat{m}_{\eta, v+1} \geq 0$,
$\sum_{\eta=v+1}^{q+1} \widehat{m}_{\eta, v+1}=O(1)$.

## Main Result

There are many studies on absolute matrix summability of infinite series [16-29]. This study provides a generalization of above mentioned theorem to $\left|M, p_{\eta}, \lambda ; \mu\right|_{\kappa}$ summability under some suitable conditions. For the convenience of the reader, we give some further notations.
Let $M=\left(m_{r v}\right)$ be a normal matrix. The definition of two lower semi-matrices $\bar{M}=\left(\bar{m}_{\eta v}\right)$ and $\widehat{M}=\left(\widehat{m}_{\eta v}\right)$ are as follows.
$\bar{m}_{\eta v}=\sum_{i=v}^{\eta} m_{\eta i}, \eta, v=0,1, \ldots$
and
$\widehat{m}_{00}=\bar{m}_{00}=m_{00}, \widehat{m}_{\eta v}=\bar{m}_{\eta v}-\bar{m}_{\eta-1, v}, \eta=1,2, \ldots$
It is well-known that
$M_{\eta}(s)=\sum_{v=0}^{\eta} m_{\eta v} s_{v}=\sum_{v=0}^{\eta} \bar{m}_{\eta v} m_{v}$
and
$\bar{\Delta} M_{\eta}(s)=\sum_{v=0}^{\eta} \widehat{m}_{\eta v} m_{v}$.
Now, let's give the main theorem.
Theorem 2. Let $\left(\lambda_{\eta}\right)$ and $\left(X_{\eta}\right)$ be two sequences such that $\sum_{\eta=1}^{\infty} \eta^{-1} \lambda_{\eta} x_{\eta}$ is convergent. The conditions (9), (10), (14)-(17) and

$$
\begin{align*}
& m_{\eta \eta}=O\left(\frac{p_{\eta}}{P_{\eta}}\right),  \tag{25}\\
& \sum_{\eta=v+1}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)-\kappa+1} \widehat{m}_{\eta, v+1}=O(1) \text { as } q \rightarrow \infty  \tag{26}\\
& \sum_{\eta=v+1}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)-\kappa+1}\left|\Delta_{v}\left(\widehat{m}_{\eta v}\right)\right|=O\left(m_{v v}\right) \text { as } q \rightarrow \infty  \tag{27}\\
& \sum_{v=1}^{\eta-1} m_{v v} \widehat{m}_{\eta, v+1}=O\left(m_{\eta \eta}\right) \tag{28}
\end{align*}
$$

are satisfied.
If $\left(\frac{P_{v}}{p_{v}}\right)^{\lambda(\mu \kappa+\kappa-1)-\kappa+1} u_{v}^{\kappa}=O(1)(C, 1)$, where $\left(u_{v}\right)$ as in
Theorem 1, then the series $\sum m_{\eta} \lambda_{\eta} X_{\eta}$ is summable $\left|M, p_{\eta}, \lambda ; \mu\right|_{\kappa}, \kappa \geq 1, \mu \geq 0$ and $-\lambda(\mu \kappa+\kappa-1)+\kappa>0$.

## Proof of Theorem 2

Let $\phi_{\eta}=\lambda_{\eta} X_{\eta}$ and $\left(W_{\eta}\right)$ be $M$ - transform of the series $\sum m_{\eta} \phi_{\eta}$. By (23) and (24), we get
$\bar{\Delta} W_{\eta}=\sum_{v=1}^{\eta} \hat{m}_{\eta v} m_{v} \phi_{v}=\sum_{v=1}^{\eta} \frac{\hat{m}_{\eta v} \phi_{v}}{v} m_{v} v$.

Using Abel's transformation, we obtain the following.

$$
\begin{aligned}
\bar{\Delta} W_{\eta} & =\sum_{v=1}^{\eta-1} \Delta_{v}\left(\frac{\widehat{m}_{\eta v} \phi_{v}}{v}\right) \sum_{i=1}^{v} i m_{i}+\frac{\hat{m}_{\eta \eta} \phi_{\eta}}{\eta} \sum_{i=1}^{\eta} i m_{i} \\
& =\sum_{v=1}^{\eta-1} \Delta_{v}\left(\frac{\hat{m}_{v v} \phi_{v}}{v}\right)(v+1) u_{v}+\frac{m_{\eta \eta} \phi_{\eta}}{\eta}(\eta+1) u_{\eta} \\
& =\sum_{v=1}^{\eta-1} \frac{1}{v} \widehat{m}_{\eta v} \phi_{v} u_{v}+\sum_{v=1}^{\eta-1} \Delta_{v}\left(\hat{m}_{\eta v}\right) \phi_{v} u_{v}+\sum_{v=1}^{\eta-1} \hat{m}_{\eta, v+1} \Delta \phi_{v} u_{v} \\
& +\frac{\eta+1}{\eta} m_{\eta \eta} \phi_{\eta} u_{\eta} \\
& =W_{\eta, 1}+W_{\eta, 2}+W_{\eta, 3}+W_{\eta, 4} .
\end{aligned}
$$

It is sufficient to prove
$\sum_{\eta=1}^{\infty}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)}\left|W_{\eta, j}\right|^{\kappa}<\infty$, for $j=1,2,3,4$

We first apply Hölder's inequality to obtain
$\sum_{\eta=2}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)}\left|W_{\eta, 1}\right|^{\kappa}=\sum_{\eta=2}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)}\left|\sum_{v=1}^{\eta-1} \frac{1}{v} \widehat{m}_{\eta v} \phi_{v} u_{v}\right|^{\kappa}$
$=O(1) \sum_{\eta=2}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)}\left(\sum_{v=1}^{\eta-1} \frac{1}{v^{\kappa}} u_{v}^{\kappa} m_{v v}^{1-\kappa} \widehat{m}_{\eta v} \phi_{v}^{\kappa}\right)\left(\sum_{v=1}^{\eta-1} m_{v v} \widehat{m}_{\eta v}\right)^{\kappa-1}$
By using (17), (25), (16) and (26), we get
$\sum_{\eta=2}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)}\left|W_{\eta, 1}\right|^{\kappa}=O(1) \sum_{\eta=2}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa \kappa+\kappa-1)} m_{\eta \eta}^{\kappa-1}\left(\sum_{v=1}^{\eta-1} \frac{1}{v^{\kappa}} u_{v}^{\kappa} m_{v v}^{1-\kappa} \widehat{m}_{\eta v} \phi_{v}^{\kappa}\right)$
$=O(1) \sum_{\eta=2}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)-\kappa+1}\left(\sum_{v=1}^{\eta-1} u_{v}^{\kappa} m_{v v} \widehat{m}_{\eta v} \phi_{v}^{\kappa}\right)$
$=O(1) \sum_{v=1}^{q} m_{v v} u_{v}^{\kappa} \phi_{v}^{\kappa} \sum_{\eta=v+1}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)-\kappa+1} \widehat{m}_{\eta v}$
$=O(1) \sum_{v=1}^{q} m_{v v} u_{v}^{\kappa} \phi_{v}^{\kappa}$
$=O(1) \sum_{v=1}^{q} \frac{1}{v} u_{v}^{\kappa} \phi_{v} \phi_{v}^{\kappa-1}$.

Using $\phi_{v}^{\kappa-1}=O(1)$, we have
$\sum_{\eta=2}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)}\left|W_{\eta, 1}\right|^{\kappa}=O(1) \sum_{v=1}^{q} \frac{\phi_{v}}{v} u_{v}^{\kappa}$.

Here, applying Abel's transformation, we have

$$
\begin{aligned}
\sum_{\eta=2}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)}\left|W_{\eta, 1}\right|^{\kappa} & =O(1) \sum_{v=1}^{q-1} \Delta\left(\frac{\phi_{v}}{v}\right) \sum_{i=1}^{v} u_{i}^{\kappa}+O(1) \frac{\phi_{q}}{q} \sum_{v=1}^{q} u_{v}^{\kappa} \\
& =O(1) \sum_{v=1}^{q-1} v \Delta\left(\frac{\phi_{v}}{v}\right)+O(1) \phi_{q}
\end{aligned}
$$

Since

$$
\begin{aligned}
\Delta\left(\frac{\phi_{v}}{v}\right)= & \frac{\phi_{v}}{v}-\frac{\phi_{v+1}}{v+1} \\
& <\frac{\phi_{v}}{v^{2}}+\frac{\Delta \phi_{v}}{v+1}
\end{aligned}
$$

we have

$$
\begin{aligned}
\sum_{\eta=2}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)}\left|W_{\eta, 1}\right|^{\kappa} & =O(1) \sum_{v=1}^{q-1} v\left(\frac{\phi_{v}}{v^{2}}+\frac{\Delta \phi_{v}}{v+1}\right)+O(1) \phi_{q} \\
& =O(1) \sum_{v=1}^{q-1} \frac{\phi_{v}}{v}+O(1) \sum_{v=1}^{q-1} \Delta \phi_{v}+O(1) \phi_{q}
\end{aligned}
$$

In that case, we obtain

$$
\begin{aligned}
& \sum_{\eta=2}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\alpha \mu k+-1)}\left|W_{\eta, 1}\right|^{\kappa}=O(1) \sum_{v=1}^{q-1} \frac{\lambda_{v} X_{v}}{v}+O(1) \sum_{v=1}^{q-1} \Delta\left(\lambda_{v} X_{v}\right)+O(1) \lambda_{q} X_{q} \quad=O(1) \sum_{\eta=2}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \mu+\kappa-1)}\left(\sum_{v=1}^{n-1} u_{v}^{k} m_{v v}^{1-\kappa} \hat{m}_{\eta, v+1}\left(\Delta \phi_{v}\right)^{\kappa}\right)\left(\sum_{v=1}^{n-1} m_{v v} \hat{m}_{\eta, v+1}\right)^{\kappa-1} \\
& =O(1) \text { as } q \rightarrow \infty \text {. }
\end{aligned}
$$

Using (28), we have

## We now apply Hölder's inequality to obtain

$\sum_{\eta=2}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)}\left|W_{\eta, 2}\right|^{\kappa} \leq \sum_{\eta=2}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)}\left(\sum_{v=1}^{\eta-1}\left|\Delta_{v}\left(\widehat{m}_{\eta v}\right)\right| \phi_{v} u_{v}\right)^{\kappa} \sum_{\eta=2}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)}\left|W_{\eta, 3}\right|^{\kappa}=O(1) \sum_{\eta=2}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)} m_{\eta \eta}^{\kappa-1}\left(\sum_{v=1}^{\eta-1} u_{v}^{\kappa} m_{v v}^{1-\kappa} \widehat{m}_{\eta, v+1}\left(\Delta \phi_{v}\right)^{\kappa}\right)$
By using (25), (26) and (16), we have
$\leq \sum_{\eta=2}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)}\left(\sum_{v=1}^{\eta-1}\left|\Delta_{v}\left(\hat{m}_{\eta v}\right)\right| \phi_{v}^{\kappa} u_{v}^{\kappa}\right)\left(\sum_{v=1}^{\eta-1}\left|\Delta_{v}\left(\hat{m}_{\eta v}\right)\right|\right)^{\kappa-1}$.
$\sum_{\eta=2}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)}\left|W_{\eta, 3}\right|^{\kappa}=O(1) \sum_{\eta=2}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)-\kappa+1}\left(\sum_{v=1}^{\eta-1} u_{v}^{\kappa} m_{v v}^{1-\kappa} \widehat{m}_{\eta, v+1}\left(\Delta \phi_{v}\right)^{\kappa}\right)$
By using (21) and (22), we get

$$
\begin{align*}
\Delta_{v}\left(\hat{m}_{\eta v}\right) & =\hat{m}_{\eta v}-\hat{m}_{\eta, v+1}=\bar{m}_{\eta v}-\bar{m}_{\eta-1, v}-\bar{m}_{\eta, v+1}+\bar{m}_{\eta-1, v+1} \\
& =m_{\eta v}-m_{\eta-1, v} . \tag{29}
\end{align*}
$$

$=O(1) \sum_{v=1}^{q} u_{v}^{\kappa} m_{v v}^{1-\kappa}\left(\Delta \phi_{v}\right)^{\kappa} \sum_{\eta=v+1}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)-\kappa+1} \widehat{m}_{\eta, v+1}$
$=O(1) \sum_{v=1}^{q} u_{v}^{\kappa} v^{\kappa-1}\left(\Delta \phi_{v}\right)^{\kappa}$.
Thus using (21), (14), (15) and (29), we obtain
$\sum_{v=1}^{\eta-1}\left|\Delta_{v}\left(\widehat{m}_{v v}\right)\right|=\sum_{v=1}^{\eta-1}\left(m_{\eta-1, v}-m_{\eta v}\right) \leq m_{\eta \eta}$.

Then, we get
$\sum_{\eta=2}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \mu+\kappa-1)}\left|W_{\eta, 2}\right|^{\kappa}=O(1) \sum_{\eta=2}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)} m_{\eta \eta}^{\kappa-1}\left(\sum_{v=1}^{\eta-1}\left|\Delta_{v}\left(\widehat{m}_{\eta v}\right)\right| \phi_{v}^{\kappa} u_{v}^{\kappa}\right)$
Here $\left(v \Delta \phi_{v}\right)^{\kappa-1}=O(1)$, then we have
$\sum_{\eta=2}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)}\left|W_{\eta, 3}\right|^{\kappa}=O(1) \sum_{v=1}^{q} u_{v}^{\kappa} \Delta \phi_{v}$
$=O(1) \sum_{v=1}^{q} u_{v}^{\kappa} \Delta \lambda_{v} X_{v}+O(1) \sum_{v=1}^{q} u_{v}^{\kappa} \lambda_{v+1} \Delta X_{v}$
$=Y_{1}+Y_{2}$.

The condition (9) and Abel's transformation enable us to write
By using (25) and (27), we have


$$
\begin{aligned}
Y_{1} & =O(1) \sum_{v=1}^{q} u_{v}^{\kappa} \frac{1}{v} \lambda_{v} X_{v} \\
& =O(1) \sum_{v=1}^{q-1} \Delta\left(\frac{\lambda_{v} X_{v}}{v}\right) \sum_{i=1}^{v} u_{i}^{\kappa}+O(1) \frac{\lambda_{q} X_{q}}{q} \sum_{v=1}^{q} u_{v}^{\kappa} .
\end{aligned}
$$

$=O(1) \sum_{v=1}^{q} \phi_{v}^{\kappa} u_{v}^{\kappa} \sum_{\eta=v+1}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)-\kappa+1}\left|\Delta_{v}\left(\hat{m}_{\eta v}\right)\right|$
$=O(1) \sum_{v=1}^{q} m_{v v} u_{v}^{\kappa} \phi_{v}^{\kappa-1} \phi_{v}$
$=O(1)$ as $q \rightarrow \infty$,
as in $W_{\eta, 1}$.
Then, we have

$$
\begin{aligned}
Y_{1} & =O(1) \sum_{v=1}^{q-1} v\left(\frac{\lambda_{v} X_{v}}{v^{2}}+\frac{\Delta \lambda_{v} X_{v}}{v}+\frac{\lambda_{v+1} \Delta X_{v}}{v}\right)+O(1) \lambda_{q} X_{q} \\
& =O(1) \sum_{v=1}^{q-1} \frac{\lambda_{v} X_{v}}{v}+O(1) \sum_{v=1}^{q-1} \Delta \lambda_{v} X_{v}+O(1) \sum_{v=1}^{q-1} \lambda_{v} \Delta X_{v}+O(1) \lambda_{q} X_{q} \\
& =O(1) \text { as } q \rightarrow \infty .
\end{aligned}
$$

By Abel's transformation and (9), (12), (13), (11), we get
We now apply Hölder's inequality again to obtain
$\sum_{\eta=2}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)}\left|W_{\eta, 3}\right|^{\kappa}=O(1) \sum_{\eta=2}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)}\left(\sum_{v=1}^{\eta-1} \hat{m}_{\eta, v+1} \Delta \phi_{v} u_{v}\right)^{\kappa}$

$$
\begin{aligned}
Y_{2} & =O(1) \sum_{v=1}^{q-1} \Delta\left(\lambda_{v} \Delta X_{v}\right) \sum_{i=1}^{v} u_{i}^{\kappa}+O(1) \lambda_{q} \Delta X_{q} \sum_{v=1}^{q} u_{v}^{\kappa} \\
& =O(1) \sum_{v=1}^{q-1} v \Delta\left(\lambda_{v} \Delta X_{v}\right)+O(1) q \lambda_{q} \Delta X_{q} \\
& =O(1) \sum_{v=1}^{q-1} v\left(\Delta \lambda_{v} \Delta X_{v}+\lambda_{v+1} \Delta^{2} X_{v}\right)+O(1) q \lambda_{q} \Delta X_{q}
\end{aligned}
$$

$=O(1) \sum_{v=1}^{q-1} \lambda_{v} \Delta X_{v}+O(1) \sum_{v=1}^{q-1} v \lambda_{v} \Delta^{2} X_{v}+O(1) q \lambda_{q} \Delta X_{q}$
$=O(1)$ as $q \rightarrow \infty$.

Since $Y_{1}=O(1)$ and $Y_{2}=O(1)$, we get
$\sum_{\eta=2}^{q+1}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)}\left|W_{\eta, 3}\right|^{\kappa}=O(1)$ as $q \rightarrow \infty$.

Finally, using (25), (16) and Abel's transformation, we obtain
$\sum_{\eta=1}^{q}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)}\left|W_{\eta, 4}\right|^{\kappa}=O(1) \sum_{\eta=1}^{q}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)} m_{\eta \eta}^{\kappa-1} m_{\eta \eta} \phi_{\eta}^{\kappa} u_{\eta}^{\kappa}$
$=O(1) \sum_{\eta=1}^{q}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)-\kappa+1} m_{\eta \eta} \phi_{\eta}^{\kappa-1} \phi_{\eta} u_{\eta}^{\kappa}$
$=O(1) \sum_{\eta=1}^{q}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)-\kappa+1} \frac{\phi_{\eta}}{\eta} u_{\eta}^{\kappa}$
$=O(1) \sum_{\eta=1}^{q-1} \Delta\left(\frac{\phi_{\eta}}{\eta}\right) \sum_{v=1}^{\eta}\left(\frac{P_{v}}{p_{v}}\right)^{\lambda(\mu \kappa+\kappa-1)-\kappa+1} u_{v}^{\kappa}+O(1) \frac{\phi_{q}}{q} \sum_{\eta=1}^{q}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)-\kappa+1} u_{\eta}^{\kappa}$
$=O(1) \sum_{\eta=1}^{q-1} \eta \Delta\left(\frac{\phi_{\eta}}{\eta}\right)+O(1) \phi_{q}$.

So, we have
$\sum_{\eta=1}^{q}\left(\frac{P_{\eta}}{p_{\eta}}\right)^{\lambda(\mu \kappa+\kappa-1)}\left|W_{\eta, 4}\right|^{\kappa}=O(1)$ as $q \rightarrow \infty$,
as in $W_{\eta, 1}$.
Hence proof of the theorem is completed.

## Conclusion

If we choose $\lambda=1, \mu=0$ and $p_{\eta}=1$ for $\forall \eta \in \mathbb{N}$, then we obtain Theorem 1. In that case, (25) reduces to $\eta m_{\eta \eta}=O(1)$ (first part of (16)). In addition, (26)-(28) are automatically satisfied.

## Conflicts of interest

The author state that did not have conflict of interests.

## References

[1] Cesàro E., Sur la Multiplication des Séries, Bull. Sci. Math., 14 (1890) 114-120 (in French).
[2] Abel N.H., Untersuchungen über die Reihe: $1+\frac{m}{1} x+\frac{m(m-1)}{1.2} x^{2}+\frac{m(m-1)(m-2)}{1.2 .3} x^{3}+\cdots$, J. Reine Angew. Math., 1 (1826) 311-339 (in German).
[3] Nörlund N.E., Sur une Application des Fonctions Permutables, Lunds Univ. Arssk., 16 (1919) 1-10 (in French).
[4] Riesz M., Sur L’equivalence de Certaines Méthodes de Sommation, Proc. London Math. Soc., 22 (1924) 412-419 (in French).
[5] Petersen G.M., Regular matrix transformations. New York: McGraw-Hill, (1966).
[6] Das G., Tauberian Theorems for Absolute Nörlund Summability, Proc. London Math. Soc., 19 (1969) 357-384.
[7] Kishore N., Hotta G.C., On $\left|\bar{N}, p_{n}\right|$ Summability Factors, Acta Sci. Math. (Szeged), 31 (1970) 9-12.
[8] Tanović-Miller N., On Strong Summability, Glas. Mat. Ser. III, 14 (1979) 87-97.
[9] Bor H., On Two Summability Methods, Math. Proc. Cambridge Philos. Soc., 97 (1985) 147-149.
[10] Bor H., On Local property of $\left|\bar{N}, p_{n} ; \delta\right|_{k}$ Summability of Factored Fourier Series, J. Math. Anal. Appl., 179 (1993) 646-649.
[11] Özarslan H.S., Öğdük H.N., Generalizations of Two Theorems on Absolute Summability Methods, Aust. J. Math. Anal. Appl., 1 (2004) Art.no. 13.
[12] Özarslan H.S., Karakaş A., A New Study on Absolute Summability Factors of Infinite Series, Maejo Int. J. Sci. Technol., 13 (2019) 257-265.
[13] Hardy G.H., Divergent series. Oxford: Oxford University Press, (1949).
[14] Sulaiman W.T., Inclusion Theorems for Absolute Matrix Summability Methods of an Infinite Series. IV, Indian J. Pure AppI. Math., 34 (2003) 1547-1557.
[15] Sulaiman W.T., Some New Factor Theorem for Absolute Summability, Demonstratio Math., 46 (2013) 149-156.
[16] Özarslan H.S., Öğdük H.N., On Absolute Matrix Summability Methods, Math. Commun., 12 (2007) 213-220.
[17] Özarslan H.S., A Note on $\left|A, p_{n}\right|_{k}$ Summability Factors, Antarct. J. Math., 7 (2010) 23-30.
[18] Özarslan H.S., A New Application of Almost Increasing Sequences, Miskolc Math. Notes, 14 (2013) 201-208.
[19] Özarslan H.S., On Generalized Absolute Matrix Summability, Asia Pacific J. Math., 1 (2014) 150-156.
[20] Özarslan H.S., Şakar M.Ö., A New Application of Absolute Matrix Summability, Math. Sci. Appl. E-Notes, 3 (2015) 36-43.
[21] Özarslan H.S., A New Application of Absolute Matrix Summability, C. R. Acad. Bulgare Sci., 68 (2015) 967-972.
[22] Özarslan H.S., A New Study on Generalized Absolute Matrix Summability, Commun. Math. Appl., 7 (2016) 303-309.
[23] Özarslan H.S., A New Application of Generalized Almost Increasing Sequences, Bull. Math. Anal. Appl., 8 (2016) 9-15.
[24] Özarslan H.S., An Application of $\delta$-quasi Monotone Sequence, Int. J. Anal. Appl., 14 (2017) 134-139.
[25] Karakas A., On Absolute Matrix Summability Factors of Infinite Series, J. Class. Anal., 13 (2018) 133-139.
[26] Özarslan H.S., Karakaş A., On Generalized Absolute Matrix Summability of Infinite Series, Commun. Math. Appl., 10 (2019) 439-446.
[27] Özarslan H.S., An Application of Absolute Matrix Summability using Almost Increasing and $\delta$-quasi-monotone Sequences, Kyungpook Math. J., 59 (2019) 233-240.
[28] Kartal B., On an Extension of Absolute Summability, Konuralp J. Math., 7 (2019) 433-437.
[29] Özarslan H.S., A New Factor Theorem for Absolute Matrix Summability, Quaest. Math., 42 (2019) 803-809.

